#ER:1/2,500

BAIRZNDIEE |2EHBORE

HRAEES 132462A661103056

ERIES HIEE
AT 7E 3t JEH T &I ET A B

L VB4
i & # R :1/50,000
Ty SN !

>
LT

NS
el

¥
*H “ o
\’,' l'\y-i(

e Ay
S|
Sxpal 6

ey
o/ Al o
=)
L= —
D~ Tl

=

—3
WeZr s
: P

T HSAS

y Hi
-_\(M,L :

X & & R A

I:l IMREERRE

- IBSERIERRS (BPRRSES) —
BB LB H0100kN/ mE B % B R i
HHEIOImERZ SR

[ ] zhusoxs

B R R I (FFRS
TRFEDNOREEDRT

[TREDNDORES—ERISHE

Of

TEE

0 50 m
Iy —
1/2 500

1/ 2 ERE



TEFOAODKESS—E

(BEZEE] BARZRDIEE |(AlEfHhORE
1. T_EEO)%‘WE'**??Q”&Z\”E%%':M'Zé’\ EBAEEE  |132462A661103056
j]d)lZﬁi%EEd)Eﬁ",Hﬁ éhT,EiﬁﬁwnﬁﬁfL’émbfb %, N yr—
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(B) WA KR ENI AT S BEDLEEDESm (F) DM EN - T HBE DL EEDEE(m) %iwwﬁ’;fégfﬁi'ﬂﬁ%%ft J_ﬁ@f‘ﬁ& AT TE A E T R HET A
(C) BE =k 571 54100kN/ M LU T DK DTS T D 1D B A KN/ ) (Q) HHEE HS3mBL T DR B DHEHED A DB ABRN/m) EMBEEHEEHZRLEFEBHEHICHRRMT
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RHBES % =
(A) (B) () (D) (E) (F) (@) (H) (A) (B) (©) (D) (E) (F) (G) (H)
(1) 131.1 10 99.3 10 - - 12.0 24 131.1 10 99.3 10 - - 12.0 24
(2) - - 96.9 1.0 - - 8.9 1.8 - - 96.9 1.0 - - 8.9 1.8
( 3) 123.9 1.0 99.5 1.0 - - 12.6 25 123.9 1.0 96.9 1.0 - - 12.6 25
( 4) 154.7 1.0 98.6 1.0 16.3 3.2 15.2 3.0 154.7 1.0 96.8 1.0 16.3 3.2 15.1 3.0
(5) 154.7 1.0 98.6 1.0 16.3 3.2 15.2 3.0 154.7 1.0 96.8 1.0 16.3 3.2 15.1 3.0
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